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'1' BACHELOR'S DEGREE PROGRAMME 
O 
r") 	 Term-End Examination 
O 	 December, 2018 

ELECTIVE COURSE : COMMERCE 

ECO-005 : MERCANTILE LAW 

Time : 2 hours 	 Maximum Marks : 50 

Weightage : 70% 

Note : Answer any five questions. All questions carry equal 
marks. 

	

1. 	"All contracts are agreements but all agreements 4+6 
are not contracts." Discuss the statement 
explaining the essential elements of a valid 
contract. 

	

2. 	Distinguish between : 	 5+5 
(a) Coercion and undue influence. 
(b) Misrepresentation and fraud. 

3. Explain the various modes of discharge of a 10 
contract. 

4. What is pledge ? Under what circumstances a 2+8 
non-owner can make a valid pledge ? 

5. Define Partnership ? How would you determine 
the existence of a partnership ? Can a minor 
become a partner ? 4+4+2 
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6. Discuss the various modes of termination of an 10 
agency. 

7. State the implied conditions and implied 10 
warranties in a contract for sale of goods. 

8. Point out the differences between a contract of 10 
indemnity and a contract of guarantee. 

9. Answer the following problems and give reasons 5+5 
in support of your answer. 

(a) A hires a carriage from B. The carriage is 
unsafe. B is not aware of it and A is injured. 
Is B responsible to A for his injury ? 

(b) A minor is supplied with necessaries for life 
by a shopkeeper. He makes out a 
promissory note in favour of the 
shopkeeper. Minor does not pay. Can the 
shopkeeper claim payment under 
promissory note ? 
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